The universe has a volume and we can say it has other three components the universe has
masses space and time now since we denote space as nothing then if we say that the
universe is composed of two things masses and time then we should say that the universe is
split up into two stuff masses and time and if so we can say that mass and time occupy the
volume of the universe fully now if we actually look at the night sky we could see that the
stars are less than half the volume of the universe and that is because masses consumed
themselves to move and consume themselves as time pass in other words time didn't want
its half of the volume of the universe only it also zombied(from the word zombie) up the
masses half or turned the masses into moving masses that consumed their mass as time
passed by now we have the c constant we have cosmology we can look at the sky and know
how much volume of the stars compared to half the volume of the universe is still existent
and we can calculate everything till the pi value of mathematical circles now | don't know
how to do it but it seems other people can take time and calculate everything with
mathematics



